

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 30, 2024

Progress Estimate Number	Contract ID 240419-F4B	Pay Period Start September 14, 2024 Original Contract Amount \$120,102.51
3	Prime Contractor N.B. West Contractin	g Company Pay Period End September 30, 2024 Net Change Order Amount \$0.00 Current Contract Amount \$120,102.51

Approval Date		By User
October 1, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	durant1
October 1, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	lewisj1
October 2, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2024	November 1, 2024		95.84%

	Milestones		
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	May 1, 2024	May 1, 2024	
Letting Date	April 19, 2024	April 19, 2024	
Notice to Proceed Date	June 3, 2024	June 3, 2024	
Open to Traffic Date			
Work Began Date			

Contract Total Pay For Estimate No. 3								
		This Estimate	Previous	To Date				
240419-F4B								
	Total Posted Items Pay	\$23,817.50	\$91,289.01	\$115,106.51				
	Gross Item Adjustments	(\$8,717.50)	(\$1,792.96)	(\$10,510.46)				
	Incentive	\$0.00	\$0.00	\$0.00				
	Disincentive	\$0.00	\$0.00	\$0.00				
	Liquidated Damage	\$0.00	\$0.00	\$0.00				
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00				
	·		\$89,496.05	\$104,596.05				
Contract Total Pay	yable This Estimate:	\$15,100.00						

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3480C	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$2,400.000	1	\$2,400.00
	0090	6181000	MOBILIZATION	LS	\$12,000.000	0.1	\$1,200.00
	0100	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$50.000	24	\$1,200.00
	0110	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.500	10,887	\$5,443.50
	0120	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.000	2,074	\$2,074.00
	0150	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$26.000	164	\$4,264.00
0160 903128			DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	EA	\$250.000	12	\$3,000.00
	0170	9035004A	SH-FLAT SHEET	SQFT	\$36.000	96	\$3,456.00
	0180	9035069A	SHF-FLAT SHEET FLUORESCENT	SQFT	\$39.000	20	\$780.00
Droinet ICC	2400C T	401					\$22 047 E0

Project J6S3480C - Total	\$23,817.50
Overall - Total	\$23,817.50

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item A	djustm	ents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3480C	0020	EMULSIFIED ASPHALT, SEAL COAT	Material			-11,707	\$2.60	(\$30,438.20)

Revision 3/23/2023 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 30, 2024

Progress Estimate Number

Contract ID 240419-F4B Pay Period Start September 14, 2024 Original Contract Amount \$120,102.51

Prime Contractor N.B. West Contracting Company Pay Period End September 30, 2024 Net Change Order Amount \$0.00

Current Contract Amount \$120,102.51

roject ımber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
6S3480C	0020	EMULSIFIED ASPHALT, SEAL COAT				11,707	\$2.60	\$30,438.20
	0040	TRUCK MOUNTED ATTENUATOR (TMA)	Material			-1	\$0.01	(\$0.01)
	0040	TRUCK MOUNTED ATTENUATOR (TMA)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user durant1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	1	\$0.01	\$0.01
	0050	CONSTRUCTION SIGNS	Material			-292	\$9.00	(\$2,628.00)
	0050	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user durant1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	292	\$9.00	\$2,628.00
	0060	ADVANCED WARNING RAIL SYSTEM	Material			-2	\$50.00	(\$100.00)
	0060	ADVANCED WARNING RAIL SYSTEM	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user durant1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	2	\$50.00	\$100.00
	0070	CHANNELIZER (TRIM LINE)	Material			-6	\$22.00	(\$132.00)
	0070	CHANNELIZER (TRIM LINE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user durant1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	6	\$22.00	\$132.00
	0080	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material			-2	\$2,800.00	(\$5,600.00)
	0080	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user durant1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	2	\$2,800.00	\$5,600.00
	0100	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material			-24	\$50.00	(\$1,200.00)
	0110	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-10,887	\$0.50	(\$5,443.50)
	0120	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-2,074	\$1.00	(\$2,074.00)
	0150	2.5 IN. PSST POST - 12 GA.	Material			-164	\$26.00	(\$4,264.00)
	0150	2.5 IN. PSST POST - 12 GA.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user durant1 overridding Payment Estimate Exception 12	164	\$26.00	\$4,264.00

Revision 3/23/2023 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 30, 2024

Progress Estimate Number

Contract ID 240419-F4B Pay Period Start September 14, 2024 Original Contract Amount \$120,102.51

Prime Contractor N.B. West Contracting Company Pay Period End September 30, 2024 Net Change Order Amount \$0.00

Current Contract Amount \$120,102.51

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3480C					on the current Payment Estimate.			
	0160	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material			-12	\$250.00	(\$3,000.00
	0160	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user durant1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	12	\$250.00	\$3,000.00
	0170	SH-FLAT SHEET	Material			-96	\$36.00	(\$3,456.00
	0170	SH-FLAT SHEET	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user durant1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	96	\$36.00	\$3,456.00
	0180	SHF-FLAT SHEET FLUORESCENT	Material			-20	\$39.00	(\$780.00)
	0180	SHF-FLAT SHEET FLUORESCENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user durant1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	20	\$39.00	\$780.00
Total								(\$8,717.50

Revision 3/23/2023 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	ı				
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work					
J6S3480C		Seal Coat	J	ST CHARLES	from Common Field Stre	eet to Route 94 near Porta	ge Des Sioux				
Totals by Jo	b Number	s									
J6S3480C					This Estimate	Previous	To Date				
	Posted Item Pay Gross Item Adjustments Gross Item Pay		\$23,817.50 (\$8,717.50) \$15,100.00	\$91,289.01 (\$1,792.96) \$89,496.05	\$115,106.51 (\$10,510.46) \$104,596.05						
	Incenti	ve			\$0.00	\$0.00	\$0.00				
	Disince				\$0.00	\$0.00	\$0.00				
		ated Damages Contract Adjus			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00				

Revision 3/23/2023 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 4091048, Project Item Line Number 0020, Material Set 409104896, Material 1015EA.CHFRS-2P - Emulsion CHFRS-2P, Acceptance Action Generic AspEmulsion is insufficient.	SUBMITTED SYTEM BEING SLOW	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6123001, Project Item Line Number 0040, Material Set 6123001, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	SUBMITTED SYTEM BEING SLOW	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6161005, Project Item Line Number 0050, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	SUBMITTED SYTEM BEING SLOW	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6161008, Project Item Line Number 0060, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	SUBMITTED SYTEM BEING SLOW	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6161025, Project Item Line Number 0070, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	SUBMITTED SYTEM BEING SLOW	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6161098A, Project Item Line Number 0080, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	SUBMITTED SYTEM BEING SLOW	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6200015, Project Item Line Number 0100, Material Set 620001596, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	HAVENT RECIEVED CERTS	durant1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6206000C, Project Item Line Number 0110, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	HAVENT RECIEVED CERTS	durant1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6206000C, Project Item Line Number 0110, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	HAVENT RECIEVED CERTS	durant1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6206001C, Project Item Line Number 0120, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	HAVENT RECIEVED CERTS	durant1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 6206001C, Project Item Line Number 0120, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	HAVENT RECIEVED CERTS	durant1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 9031280, Project Item Line Number 0150, Material Set 903128096, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	MODOT PROCESSING	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 9031281A, Project Item Line Number 0160, Material Set 9031281A, Material 0903HSSBPSST - Slip Base PSST Posts, Acceptance Action Generic 0903HSSBPSST is insufficient.	MODOT PROCESSING	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 9035004A, Project Item Line Number 0170, Material Set 9035004A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	MODOT PROCESSING	durant1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3480C, Item 9035069A, Project Item Line Number 0180, Material Set 9035069A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	MODOT PROCESSING	durant1	Overridden

Revision 3/23/2023 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240419-F4B	J6S3480C	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,400.00	\$2,400.00
		0001	0020	4091048	EMULSIFIED ASPHALT, SEAL COAT	11,707.00	0.00	11,707.00	GAL	11,707.00	\$2.60	\$30,438.20
		0001	0030	4094011	SEAL COAT AGGREGATE, GRADE B1	30,808.00	0.00	30,808.00	SQYD	30,808.00	\$1.35	\$41,590.80
		0001	0040	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	1.00	\$0.01	\$0.01
		0001	0050	6161005	CONSTRUCTION SIGNS	515.00	0.00	515.00	SQFT	292.00	\$9.00	\$2,628.00
		0001	0060	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.00
		0001 0070 6161025			CHANNELIZER (TRIM LINE)	120.00	0.00	120.00	EA	6.00	\$22.00	\$132.00
		0001	0080	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.00
		0001	0090	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$12,000.00	\$12,000.00
		0001	0100	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	24.00	0.00	24.00	LF	24.00	\$50.00	\$1,200.00
		0001	0110	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	10,887.00	0.00	10,887.00	LF	10,887.00	\$0.50	\$5,443.50
		0001	0120	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,074.00	0.00	2,074.00	LF	2,074.00	\$1.00	\$2,074.00
		0001	0130	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.00
		0010		9031220	PIPE POSTS	60.00	0.00	60.00	LB	0.00	\$8.00	\$0.00
				9031280	2.5 IN. PSST POST - 12 GA.	164.00	0.00	164.00	LF	164.00	\$26.00	\$4,264.00
				9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	12.00	0.00	12.00	EA	12.00	\$250.00	\$3,000.00
		0040	0170	9035004A	SH-FLAT SHEET	96.00 0.00 96.00 SQFT 96					\$36.00	\$3,456.00
		0040 0180 9035069A SHF-FLAT SHEET FLUORESCENT						20.00	SQFT	20.00	\$39.00	\$780.00
	Project J65	3480C - To	tal Value	Posted to D	ate as of Report Generated Date							\$115,106.51
240419-F4B Ove	erall - Total V	/alue Poste	d to Date	as of Repor	t Generated Date							\$115,106.51

Page 6 of 11 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6S3480C

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	9/16/24	9/26/24	1.00	LS	Removal of existing signs, posts, and anchors at various locations between the noted station limits on both the right and left side of the roadway.	0+64	Rt & Lt	53+33	Rt & Lt	
0090	6181000	MOBILIZATION	9/30/24	9/30/24	0.10	LS		0+00	NB & SB CL	53+93	NB & SB CL	
0100	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	9/30/24	9/30/24	24.00	LF		0+00	NB & SB CL	53+93	NB & SB CL	
0110	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	9/30/24	9/30/24	10,887.00	LF		0+00	NB & SB CL	53+93	NB & SB CL	
0120	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	9/30/24	9/30/24	2,074.00	LF		0+00	NB & SB CL	53+93	NB & SB CL	
0150	9031280	2.5 IN. PSST POST - 12 GA.	9/16/24	9/26/24	164.00	LF	Various locations between the noted stations Rt & Lt sides of roadway.	0+64	Rt & Lt	53+33	Rt & Lt	
0160	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	9/16/24	9/26/24	12.00	EA	Various locations between the noted stations on both the right and left side of the roadway.	0+64	Rt & Lt	53+33	Rt & Lt	
0170	9035004A	SH-FLAT SHEET	9/16/24	9/26/24	96.00	SQFT	Various locations between the noted stations on both the right and left side of the roadway.	0+64	Rt & Lt	53+33	Rt & Lt	
0180	9035069A	SHF-FLAT SHEET FLUORESCENT	9/16/24	9/26/24	20.00	SQFT	Various locations between the noted stations on both the right and left side of the highway.	0+64	Rt & Lt	53+33	Rt & Lt	

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 7 of 11



Line Item Adjustments by Estimate

Contract ID: 240419-F4B

Machina Total Sept Sep	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
2024 3 Sep 30 SYSTEM \$30,438.20 This adjustment offers the original system-generated Material Payment Estimate Items Apparent Control Sep 30 SYSTEM \$30,438.20 SYSTEM Signal System Sep 30 Syste	J6S3480C	0020	ASPHALT, SEAL	Material		2		SYSTEM	\$30,438.20	Estimate Item Adjustment (0001) due to user horsta1 overridding Payment				
2024 Sep 30, SYSTEM (\$50.438.20) Sep 51, SYSTEM (\$50.438.20) Sep 52, Sep 53, SYSTEM (\$50.438.20) Sep 54, Sep 55, Sep 55, Sep 56, Sep 5						2		SYSTEM	(\$30,438.20)					
Total						3		SYSTEM	\$30,438.20	Estimate Item Adjustment (0001) due to user durant1 overridding Payment				
Material - Total						3		SYSTEM	(\$30,438.20)					
Cities Inches Content Conten					- Total				\$0.00					
Adjustment				Material - To	otal				\$0.00					
Other Item Adjustment - Total CS 1,792.96					ACAD	2		horsta1	(\$1,792.96)					
					ACAD - Tota	al			(\$1,792.96)					
1000 AGRICADAT				Other Item	Adjustment -	Total			(\$1,792.96)					
AGGREGATE CRADE BI		0020 -	Total						(\$1,792.96)					
Total		0030	AGGREGATE,	Material		2		SYSTEM	\$41,590.80	Estimate Item Adjustment (0002) due to user horsta1 overridding Payment				
National - Total 1900 19						2		SYSTEM	(\$41,590.80)					
1					- Total				\$0.00					
TRUCK MOLINYED ATTENUTOR (TMA) Material 2 Sep 13, SYSTEM 2024 Sep 13, SYSTEM Standard Lam Adjustment (003) due to user horisal overridding Payment Estimate Lam Adjustment (003) due to user horisal overridding Payment Estimate Estimate Lam Adjustment (003) due to user durant overridding Payment Estimate Estimate Estimate Estimate Estimate Estimate Estimate Estimate Imm Adjustment (002) due to user durant overridding Payment Estimate Exception 2 on the current Payment Estimate Estimate Exception 4 on the current Payment Estimate Estimate Exception 4 on the current Payment Estimate Estimate Estimate Exception 4 on the current Payment Estimate Estimate Exception 3 on the current Payment Estimate Estimate Exception 3 on the current Payment Estimate Estimate Exception 3 on the current Payment Estimate Estimate Estimate Exception 3 on the current Payment Estimate Estimate Estimate Exception 3 on the current Payment Estimate Estimate Estimate Exception 3 on the current Payment Estimate Estimate Estimate Exception 3 on the current Payment Estimate Estimate Estimate Estimate Exception 3 on the current Payment Estimate Estimate Estimate Estimate Exception 3 on the current Payment Estimate E				Material - Total					\$0.00					
MOUNTED ATTENUATOR (TMA)		0030 -	Total						\$0.00					
2 2024 3 3 549 30 549 540		0040	MOUNTED ATTENUATOR	Material		2		SYSTEM	\$0.01	Estimate Item Adjustment (0003) due to user horsta1 overridding Payment				
2024 Estimate Item Adjustment (0002) due to user durant 1 overridding Payment Estimate Exception 2 on the current Payment Estimate.						2		SYSTEM	(\$0.01)					
Naterial - Total \$0.00								3		SYSTEM	\$0.01	Estimate Item Adjustment (0002) due to user durant1 overridding Payment		
Naterial - Total Su						3		SYSTEM	(\$0.01)					
CONSTRUCTION SIGNS Material 2 Sep 13, 2024 2024					- Total				\$0.00					
CONSTRUCTION SIGNS				Material - To	otal				\$0.00					
SIGNS 2024 Sep 13, SYSTEM (\$2,628.00)		0040 -	Total						\$0.00					
2024 3 Sep 30, 2024 5 Sep 30, 2024 6		0050		Material		2		SYSTEM	\$2,628.00	Estimate Item Adjustment (0004) due to user horsta1 overridding Payment				
2024 Estimate Item Adjustment (0003) due to user durant1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 3 Sep 30, 2024 \$ 9.000 -Total \$0.00 Material - Total						2		SYSTEM	(\$2,628.00)					
- Total - So.00 - This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user horsta1 overridding Payment Estimate Exception 5 on the current Payment Estimate. - Total - Total - Total - Total - So.00 - This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user durant1 overridding Payment Estimate Item Adjustment (0004) due to user durant1 overridding Payment Estimate Exception 4 on the current Payment Estimate. - Total - Total - Total - So.00 - This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user durant1 overridding Payment Estimate Exception 4 on the current Payment Estimate. - Total - Total - Total - Total - So.00 - This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user durant1 overridding Payment Estimate Exception 4 on the current Payment Estimate.						3		SYSTEM	\$2,628.00	Estimate Item Adjustment (0003) due to user durant1 overridding Payment				
Material - Total \$0.00						3		SYSTEM	(\$2,628.00)					
ADVANCED WARNING RAIL SYSTEM Sep 13, 2024 Sep 13, 2024 SYSTEM \$100.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 5 on the current Payment Estimate.					- Total				\$0.00					
ADVANCED WARNING RAIL SYSTEM 2 Sep 13, 2024 2 Sep 13, 2024 3 Sep 30, 2024				Material - To	otal				\$0.00					
WARNING RAIL SYSTEM 2024 Sep 13, 2024 System (\$100.00) System stimate Exception 5 on the current Payment Estimate. 2 Sep 13, 2024 System (\$100.00) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user durant1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 3 Sep 30, 2024 System (\$100.00)		0050 -	Total						\$0.00					
3 Sep 30, 2024		0060	WARNING RAIL	Material		2		SYSTEM	\$100.00	Estimate Item Adjustment (0005) due to user horsta1 overridding Payment				
2024 Estimate Item Adjustment (0004) due to user durant1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 3 Sep 30, 2024 (\$100.00)						2		SYSTEM	(\$100.00)					
2024						3		SYSTEM	\$100.00	Estimate Item Adjustment (0004) due to user durant1 overridding Payment				
- Total \$0.00										3		SYSTEM	(\$100.00)	
					- Total				\$0.00					



Line Item Adjustments by Estimate

Contract ID: 240419-F4B

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3480C	0060	ADVANCED WARNING RAIL SYSTEM	Material - T	**				\$0.00	
	0060 -	- Total						\$0.00	
	0070	CHANNELIZER (TRIM LINE)	Material		2	Sep 13, 2024	SYSTEM	\$132.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user horsta1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					2	Sep 13, 2024	SYSTEM	(\$132.00)	
					3	Sep 30, 2024	SYSTEM	\$132.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user durant1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					3	Sep 30, 2024	SYSTEM	(\$132.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0070 -	- Total						\$0.00	
	0800	CMS W/O COMMUNICATION INTERFACE,	Material		1	Sep 3, 2024	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user horsta1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		CONT F/			1	Sep 3, 2024	SYSTEM	(\$5,600.00)	
					2	Sep 13, 2024	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user horsta1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					2	Sep 13, 2024	SYSTEM	(\$5,600.00)	
						3	Sep 30, 2024	SYSTEM	\$5,600.00
					3	Sep 30, 2024	SYSTEM	(\$5,600.00)	
				- Total				\$0.00	
			Material - T	rial - Total				\$0.00	
	0080 -	- Total						\$0.00	
	0100	PREF THERMO PVMT MARK, 24 IN WHIT	Material		3	Sep 30, 2024	SYSTEM	(\$1,200.00)	
				- Total				(\$1,200.00)	
			Material - T	otal				(\$1,200.00)	
		- Total						(\$1,200.00)	
	0110	4 IN. WHITE WATERBORNE PAVEMENT	Material		3	Sep 30, 2024	SYSTEM	(\$5,443.50) (\$5,443.50)	
		MARKING	- Total						
			Material - T	otal				(\$5,443.50)	
	0110 -						a) (==	(\$5,443.50)	
	0120	4 IN. YELLOW WATERBORNE PAVEMENT	Material		3	Sep 30, 2024	SYSTEM	(\$2,074.00)	
		MARKING		- Total				(\$2,074.00)	
			Material - T	otal				(\$2,074.00)	
	0120 -	- Total						(\$2,074.00)	
	0150	2.5 IN. PSST POST - 12 GA.	Material		3	Sep 30, 2024	SYSTEM	\$4,264.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user durant1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					3	Sep 30, 2024	SYSTEM	(\$4,264.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0150 -	- Total						\$0.00	
	0160	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		3	Sep 30, 2024	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user durant1 overridding Payment Estimate Exception 13 on the current Payment Estimate.

Oct 3, 2024



Line Item Adjustments by Estimate

Contract ID: 240419-F4B

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3480C	0160	DRIVEN POST ANCHOR FOR 2.5	Material		3	Sep 30, 2024	SYSTEM	(\$3,000.00)	
		IN. PSST - 7 GA.		- Total				\$0.00	
			Material - T	otal				\$0.00	
	0160 -	Total						\$0.00	
	0170	SH-FLAT SHEET	Material		3	Sep 30, 2024	SYSTEM	\$3,456.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user durant1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					3	Sep 30, 2024	SYSTEM	(\$3,456.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0170 -	Total						\$0.00	
	0180	SHF-FLAT SHEET FLUORESCENT	Material		3	Sep 30, 2024	SYSTEM	\$780.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user durant1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					3	Sep 30, 2024	SYSTEM	(\$780.00)	
				- Total					
			Material - T	otal				\$0.00	
	0180 -	Total				\$0.00			
J6S3480C	- Total					(\$10,510.46)			
Overall - T	otal					(\$10,510.46)			

MoDOT

Contract Adjustments for Contract - 240419-F4B

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 11 of 11